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Note : There are THREE sections A, B and C in the paper.

(i) AT T A Io7 GG 1 F G 10 977 F I HR0T | I79F 57T 0 35 #T 8 v
&4 10 577 TGI8 JHR S Jo71 & & |

Answer all the 10-parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT &1 % 8 Fv71 4 & 557 6 F¥) & IR DIFT | T F97 3 % BT & v
515 M / 50 Freg) 7 IR o |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) \FTH %6 797 7 G sl 4 Tl & I T | I9% T97 8 3% ¥ & 0
FTHT15 EF / 150 Fagt 4 3% e |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) FA% GFT B G I F1 HHER T GTe 5T HHT |
Solve all the questions of a section consecutively together.
(vi) I TSI3TT B 37 517 %1 1R 7 3 sgare & A= 8

Only English version is valid in case of difference in both the languages.

VRE - T
Section — A
1. () S h Afrepa Sfes Tua iR sitea e w1 Srua § |

| (@ 12 ®) 1.5
(c) 1.8 @ 2.7
The ratio of the maximum daily consumption to the average daily demand of water
is :
(a 1.2 (b)) 15
(c) 1.8 @ 27

Eé - (1 of 4) P.T.O.
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(i) v ¥ P syt ad @

(a) & (b) T

(c) SfamT (d) SulEa al
Suspended impurities in water consists of

(a) Iron (b) Chlorine

(¢) Bacteria (d) All of the above

(iii) A TR TTees Y fhee 8 et % Fredie R R R |
(@ 100-200 . /Eve/amtd.  (b) 20-50 <. /avey/a .
(c) 1000-2000 ft./aver/am /. (d) 3000-6000 Fﬁ./av_a/avf .

The rate of filtration of water in Rapid gravity sand filter is —
(a) 100-200 litres/hr./sq.m. (b) 20-50 litres/hr./sq.m.
(c) 1000-2000 litres/hr./sq.m.  (d) 3000-6000 litres/hr./sq.m.

(iv) %mm%maﬁgm%mammémmﬁﬁaﬁaﬁaﬁﬁ

FAH I HET A ¢ |
(2) YR FAGAIA (b) ETET FAATA
(c) Y& FARAIH (@ S-FRIE
The chlorine added beyond the break point for the safety of public against some
disease is .
(a) Super chlorination (b) Plain chlorination
(¢) Pre-chlorination (d) De-chlorination
(v) TR ST TEd) & wwael Rl 1 e & e gt Sitg 1 b @ —
(a) TSNS (b) e S
() FEamfimSe (d) wire 37 T e
The type of joint used in joining the plain ends of cast iron pipes is
(a) Flanged joint (b) Flexible joint
(¢) Dresser coupling joint (d) Socket and spigot joint
(vi) TRreror sromeft 1 fermamer et ot amett el 6t AR swaT R
(a) S8 TS Il (b) TE-SITSA JuTTeAt
(c) T yoreht (d) 0 vt
The layout of a distribution system in which water flows towards the outer
periphery '
(a) Dead end system (b) Grid iron system

(¢) Ring system (d) Radial system
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" (vii) e ¥ gfta STt Y FehTeRt B T TTST TR H SR S R -
(a) T eI (b) T HURE UEY
(c) THYGTEITETHITIE (d) Th AIRTE TIEY TH T 9 TTRW
In one pipe system of building drainage we provide
(a) One soil pipe
(b) One waste pipe
(c) One soil pipe and one vent pipe
(d) One waste pipe and one vent pipe

(viii) TmT=IE:, Gl 1 faw™ 1 e 3 weg @ fomen s R
() PriEmmse (b) e
(©) wH e (d) T NS
Laying of sewers, is usually done with the help of
(a) Theodolite (b) Compass
(c) - Plane table (d) Sight rail and boning rod
(ix) AL, 5 R hY S TR Ao 7T 58 AEE T A ST R |
(@ 20°C (b) 30°C
() 0°C (@ T ABETE
BOD;, represents 5 days-biochemical oxygen demand at a temperature of :
(a 20°C (b) 30°C
) 0°C (d) None of these
(x) Foramsfier Torst ST=R ST S SR W s & St 8
(a) & INBR AR (b) LI SATHR & &
(c) S IAHR F AR @ SR aEf
Activated sludge treatment plants are normally preferred for :

(a) towns and smaller cities (b) medium sized cities
(c) large sized cities (d) All of them (1x10)

ARH — o
Section - B

2. e FE S i i ad R R A @ AR ?

What are the factors taken into account in deciding the design period ? A3

3. e et gRI et % ) T ST 0T H8 T foham ST & ?

How pH value of water is determined using Universal Indicator ? ‘ A3)

4. 9 @RS FTARAIA B qHIATIT |

Explain break point chlorination. A3)

5. wehe 1 ma e arTavar @ 7 59 foha <1 Rigra waTse |
Why is the process of coagulation necessary ? Explain the principle of this process. A3)
P.T.O.
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6.

10.
11.
12,

13.

14.

15.

Hishe Td THIE SIS ! THTT |
Explain Socket and Spigot joint.

T T T € 7 A Hier fesea § i weequi R 7

What are the limiting velocities ? Why these are important in sewer design ?

HieeT SUUR % &7 SR RME 7

What are the main objectives of sewage treatment ?

.30 T ? 39! HEw™ AwEST |
What is B.O.D. ? Explain its importance.

qFH — &
: Section — C
S qaiAH W i faftr st avfa Hiftrg |
Describe the various methods of population forecasting.

S AT AT o g st & i &t 1wl Hifd |

Describe the various sources of water for a water supply scheme.

&0 3 et & famior 3t srivurett o1 ws Yafm % @ auiq =t |

Describe the construction and working of slow sand filter with neat sketch.

Teraor surTeft & e o TeRRI T 3 ITANT, T 3 HRI afdd Fuiq it |

iz'{l
3)
3)
3)

3

@®
@®

®

Describe the types of valve in distribution system by giving their uses, location and

functions. :

AR H8 B KT R ? 31 o T 5T A e Y wwemsy |

How does a manhole work ? Explain all of its components with diagram.

Teenfer fbeet 6 v worreht =1 o ufea awgme |

Explain the working of trickling filter with a diagram.
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